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H$amYmZ 
TAXATION 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 60 

Time allowed : 3 hours Maximum Marks : 60 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 8 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >26 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 8 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 26 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo A§{H$V h¢ & 
(iii) àíZ g§»`m 1 go 9 VH$ Ho$ àíZ A{V bKw-CÎma Ho$ h¢ VWm àË`oH$ àíZ 1 A§H$ H$m h¡ &   
(iv) àíZ g§»`m 10 go 17 VH$ Ho$ àíZ g§{jßV CÎma Ho$ h¢ VWm àË`oH$ àíZ 2 A§H$ H$m h¡ & 

gm_mÝ` ê$n go Eogo EH$ àíZ H$m CÎma 50 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(v) àíZ g§»`m 18 go 22 VH$ Ho$ àíZ ^r g§{jßV CÎma Ho$ h¢ VWm àË`oH$ àíZ 3 A§H$ H$m h¡ & 

gm_mÝ` ê$n go Eogo EH$ àíZ H$m CÎma 70 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(vi) àíZ g§»`m 23 go 26 VH$ Ho$ àíZ XrK© CÎma Ho$ h¢ VWm àË`oH$ àíZ 5 A§H$ H$m h¡ & 

gm_mÝ` ê$n go Eogo EH$ àíZ H$m CÎma 150 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(vii) CÎma g§{jßV VWm q~Xþdma hmoZm Mm{hE & 

General Instructions : 

(i) All questions are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Question nos. 1 to 9 are very short answer questions carrying 1 mark each.  

(iv) Question nos. 10 to 17 are short answer questions carrying 2 marks each. 

Answer to them should not normally exceed 50 words each. 

(v) Question nos. 18 to 22 are also short answer questions carrying 3 marks 

each. Answer to them should not normally exceed 70 words each. 

(vi) Question nos. 23 to 26 are long answer questions carrying 5 marks each. 

Answer to them should not normally exceed 150 words each. 

(vii) Answer should be brief and to the point. 

 

1. Am`H$a A{Y{Z`_, 1961 H$s Ymam 80 gr Ho$ AÝVJ©V OrdZ ~r_m àr{_`_ ^wJVmZ go 
gå~pÝYV H$Q>m¡Vr Ho$ {Z`_ Š`m h¢ ? 1 
What are the rules for deduction for payment of Life Insurance Premium 

under Section 80 C of the Income Tax Act, 1961 ? 

2. {ZYm©aU df© 2016 – 17 Ho$ {bE Am`H$a A{Y{Z`_, 1961 H$s Ymam 80 gr gr S>r Ho$ 
AÝVJ©V Ho$ÝÐr` gaH$ma n|eZ ñH$s_ _| EH$ H$_©Mmar Ûmam A§eXmZ H$s H$Q>m¡Vr H$s _mÌm H$m 
C„oI H$s{OE & 1 
State the quantum of deduction for the Assessment year 2016 – 17 in 

respect of contribution by the employee to Pension Scheme of the Central 

Government under Section 80 CCD of the Income Tax Act, 1961. 
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3. CZ Xmo H$mofm| Ho$ Zm_ Xr{OE Omo A§eXmZ na 100% H$Q>m¡Vr Ho$ {bE `mo½` h¢ & 1  
Name two funds to which donations made are eligible for 100% 

deductions. 

4. < ___________ go A{YH$ H$s bm°Q>ar AWdm H«$m°gdS>© nµOb AWdm H$mS>© Jo_, Am{X na 
OrV H$s am{e na ^r òmoV na H$a H$Q>m¡Vr H$s OmVr h¡ & 1 
Winnings from lottery or crossword puzzle or card game, etc. exceeding  

< _________ are also subject to deduction of tax at source.  

5. Š`m 60 df© go H$_ Am`w H$m EH$ {Zdmgr ì`{ŠV {OgH$s ì`dgm` AWdm noeo go H$moB© Am` 
Zht h¡ A{J«_ H$a ^wJVmZ Ho$ {bE CÎmaXm`r Zht h¡ ? 1 
Is a resident individual who is below 60 years of age, and not having any 

income from business or profession, not liable to pay advance tax ? 

6. dñVwAm| Ho$ {H$Ýht Xmo CXmhaUm| H$m C„oI H$s{OE {OZ na d¡Q> Zht bJm`m OmVm h¡ & 1 
State any two examples of goods on which VAT is not levied. 

7. Eogr {H$Ýht Xmo àH$ma H$s dñVwAm| Ho$ Zm_ Xr{OE {OÝh| ‘Kmo{fV dñVwAm|’ Ho$ dJ© _| gpå_{bV 
{H$`m J`m h¡ & 1 
Name any two types of goods that are included in the category of 

‘declared goods’. 

8. d¡Q> àmaå^ H$aZo H$s Amdí`H$Vm Ho$ {H$Ýht Xmo {~ÝXþAm| H$m C„oI H$s{OE & 1 
Give any two points stating the need for introducing VAT. 

9. godm H$a _| ‘EASIEST ñH$s_’ Š`m h¡ ? 1 
What is the ‘EASIEST Scheme’ in Service Tax ? 

10. lr EŠg Zo AnZo ñd`§, nËZr VWm ~ƒm| Ho$ {bE {ZamoYH$ ñdmñÏ` Om±M Ho$ {bE  
< 30,000 VWm AnZo na Am{lV _mVm-{nVm Ho$ {bE < 40,000 H$m ^wJVmZ {H$`m & Am`H$a 
A{Y{Z`_, 1961 H$s Ymam 80 S>r Ho$ AÝVJ©V A{YH$V_ H$Q>m¡Vr am{e H$s JUZm H$s{OE & 2 
Mr. X paid < 30,000 for preventive health check up of himself, his wife 

and his children and < 40,000 for his dependent parents. Calculate the 

maximum amount deductible under Section 80 D of the Income Tax Act, 

1961. 

11. {dÎmr` df© 2015 – 2016 Ho$ {bE d[aîR> ZmJ[aH$m| (60 df© Ho$, naÝVw 80 df© go H$_ 
Am`w) Ho$ {bE Am`H$a Ho$ ñb¡~ Xr{OE {OZHo$ AmYma na d[aîR> ZmJ[aH$m| H$s H$a Xo`Vm H$m 
{ZYm©aU {H$`m OmVm h¡ & 2 
State the Income tax slabs for the financial year 2015 – 2016 for senior 

citizens (aged 60 years but less than 80 years) on the basis of which tax 

liability of senior citizens is calculated. 
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12. EH$ ì`{ŠV H$s H$a Xo`Vm H$m {ZYm©aU H$aZo Ho$ MaUm| H$m C„oI H$s{OE & 2  
State the steps in the determination of tax liability of an individual. 

13. ‘A{J«_ H$a ^wJVmZ’ go Amn Š`m g_PVo h¢ ? g§jon _| g_PmBE & 2  
What do you understand by ‘Advance Payment of Tax’ ? Explain briefly. 

14. Š`m|{H$ H$a {dH«$` Ho$ àË`oH$ MaU na bJm`m OmVm h¡, Vmo Š`m `h H$hZm ghr h¡ {H$ d¡Q> 
gm_mÝ`V: \w$Q>H$a _yë` H$mo ~‹T>mVm h¡ ? g§jon _| g_PmBE & 2  
Is it correct to state that VAT usually increases the retail price, as the 

tax is imposed at each and every stage of sales ? Explain briefly. 

15. godm H$a _| ‘Kmo{fV godm’ H$m Š`m AW© h¡ ? Eogr {H$Ýht Xmo àH$ma H$s godmAm| Ho$ Zm_ Xr{OE 
{OÝh| Kmo{fV godmAm| Ho$ dJ© _| gpå_{bV {H$`m J`m h¡ & 2  
What is meant by ‘Declared Service’ in Service tax ? Name any two types 

of services included in the category of declared services. 

16. godm H$a H$m Š`m AW© h¡ ? godm H$a {H$g àH$ma H$m H$a h¡ ? 2 
What is meant by Service tax ? What kind of tax is Service tax ? 

17. ^maV _| godm H$a H$m ŵJVmZ H¡$go {H$`m OmVm h¡ ? g_PmBE & 2 
How is Service tax paid in India ? Explain. 

18. nyd© df© 2015 – 16 Ho$ {bE lr dmB© Zo AnZr Am` H$m {ZåZ{b{IV {ddaU noe {H$`m h¡ : 3 

     < 
ì`mdgm{`H$ Am` 6,10,000 

XrK©H$mbrZ n±yOrJV bm^ 1,00,000 

bm°Q>ar Am`   60,000 

 df© _| CgZo ñd`§ H$s {M{H$Ëgm ~r_m {H$ñV Ho$ {bE aoIm§{H$V MoH$ Ûmam < 12,000 H$m 
^wJVmZ {H$`m VWm < 5,000 gmd©O{ZH$ ^{dî` {Z{Y _| O_m {H$E &  

 dmB© H$s H$a-`mo½` Am` H$s JUZm H$s{OE &   

Mr. Y submits the following particulars of his income for the previous 

year 2015 – 16 : 

       < 

Business Income 6,10,000 

Long-term Capital Gain 1,00,000 

Lottery Income    60,000 

During the year he paid < 12,000 through crossed cheque as Medical 

Insurance Premium for self and deposited < 5,000 in Public Provident 

Fund.  

Calculate Y’s Taxable income. 
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19. lr gw{_V bIZD$ {díd{dÚmb` _| àmÜ`mnH$ (boŠMaa) h¢ VWm < 30,000 à{V _mh 
doVZ, < 5,000 à{V _mh H$m _h±JmB© ^Îmm VWm < 3,000 à{V _mh _H$mZ {H$am`m ^Îmm 
àmßV H$aVm h¡ & dh AnZo doVZ H$m 10% {díd{dÚmb` Ûmam ~ZmE JE ^{dî` {Z{Y _| 
A§eXmZ H$aVm h¡ &  

 CgHo$ nmg EH$ Ka h¡ {Ogo < 6,000 à{V _mh {H$amE na {X`m hþAm h¡ & Ka na J¥h H$a  
< 3,200 H$m ^wJVmZ {H$`m J`m & df© _| Ka H$s gµ\o$Xr VWm n|Q> H$aZo na < 5,000 IM© 
{H$E JE &   

 Cgo G$UnÌm| na < 9,000 ã`mO àmßV hþAm, òmoV na H$a H$Q>m¡Vr < 1,000 Wr &  

(i) doVZ  

(ii) Ka gån{Îm  

(iii) AÝ` òmoVm|  

go dmB© H$s Am` H$s JUZm H$s{OE &   3  

Mr. Sumit is a lecturer in Lucknow University drawing a salary of  

< 30,000 per month, dearness allowance of < 5,000 per month and house 

rent allowance < 3,000 per month. He contributes 10% of his salary to 

Provident Fund maintained by the University. 

He owns a house which is let out for < 6,000 per month. House tax paid 

in respect of the house amounted to < 3,200. An amount of < 5,000 was 

spent on white-washing and painting of the house during the year. 

He received < 9,000 interest on debentures, tax deducted at source was 

< 1,000. 

Calculate Mr. Y’s income from 

(i) Salary 

(ii) House Property 

(iii) Other Sources. 

20. lr Hw$_ma EH$ {M{H$ËgH$ h¢ & {dÎmr` df© 2016 – 17 Ho$ {bE CgH$s AZw_m{ZV H$a Xo`Vm  
< 1,00,000 h¡ & Š`m lr Hw$_ma A{J«_ H$a XoZo Ho$ {bE CÎmaXm`r h¢ AWdm Zht ? `{X hm±, 
Vmo 15 OyZ, 2016 VH$ Cgo {H$VZo A{J«_ H$a H$m ŵJVmZ H$aZm Mm{hE Wm ?  3  

Mr. Kumar is a doctor. His estimated tax liability for the financial year 

2016  17 amounted to < 1,00,000. Is Mr. Kumar liable to pay advance 

tax or not ? If yes, how much should he have paid as advance tax by  

15th June, 2016 ? 
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21. òmoV na H$a H$Q>m¡Vr H$aZo dmbo ì`{º$ Ho$ {H$Ýht VrZ H$Îm©ì`m| H$mo g_PmBE &  3  
Explain any three duties of a person deducting TDS. 

22. ^maV _| godm H$a H$m ^wJVmZ H$aZo Ho$ {bE H$m¡Z CÎmaXm`r h¡ ? Eogr {H$Ýht Xmo pñW{V`m| H$m 
CëboI H$s{OE Ohm± godm àmßVH$Vm© godm H$a Ho$ ŵJVmZ Ho$ {bE CÎmaXm`r hmoVm h¡ &   3  
Who is liable to pay Service tax in India ? State any two cases where the 

service receiver is liable to pay Service tax. 

23. lr amd Ûmam 31 _mM©, 2016 H$mo g_mßV hþE df© Ho$ {bE àñVwV {ZåZ{b{IV {ddaUm| go 
Ymam 80 gr Ho$ AÝVJ©V H$Q>m¡Vr H$s OmZo dmbr OrdZ ~r_m àr{_`_ am{e, Ymam 80 S>r Ho$ 
AÝVJ©V H$Q>m¡Vr H$s OmZo dmbr ñdmñÏ` ~r_m àr{_`_ am{e VWm Ymam 80 Or Ho$ AÝVJ©V 
Hw$N> {Z{Y`m| _| XmZ H$s H$Q>m¡Vr H$s JUZm H$s{OE :  5 

(i) lr amd Zo 1 Aà¡b, 2012 H$mo ñd`§ Ho$ OrdZ na < 1,00,000 H$s nm°{bgr na  
< 10,000 OrdZ ~r_m àr{_`_ H$m ŵJVmZ {H$`m VWm AnZo ggwa H$s OrdZ ~r_m 
nm°{bgr na < 4,000 H$m ^wJVmZ {H$`m &  

(ii) df© _| CgZo ñd`§ Ho$ VWm AnZr nËZr Ho$ ñdmñÏ` na ñdmñW ~r_m àr{_`_ H$m  
< 6,000 ^wJVmZ {H$`m VWm AnZo gmgw Ho$ ñdmñÏ` na < 5,000 H$m ^wJVmZ  
{H$E &    

(iii) df© _| CgZo Ymam 80 Or Ho$ AÝVJ©V AmZo dmbr EH$ Y_m©W© g§ñWm H$mo < 8,000 
H$m XmZ {X`m VWm àYmZ _§Ìr amîQ´>r` amhV H$mof _| < 6,000 H$m XmZ {X`m &   

From the following particulars submitted by Mr. Rao for the year ending 

31st March, 2016, calculate the amount deductible for Life Insurance 

Premium under Section 80 C, amount deductible for Health Insurance 

Premium under Section 80 D and Donations to certain funds under 

Section 80 G : 

(i) Mr. Rao paid Life Insurance Premium < 10,000 on his own life 

policy of < 1,00,000 taken on 1st April, 2012 and < 4,000 on the 

life policy of his father-in-law. 

(ii) He paid during the year Health Insurance Premium < 6,000 on his 

own and his wife’s health and < 5,000 on his mother-in-law’s 

health. 

(iii) During the year he donated < 8,000 to a charitable trust covered 

by Section 80 G and < 6,000 to the Prime Minister’s National 

Relief Fund. 
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24. nyd© df© 201516 Ho$ {bE lr EŠg H$s {ZYm©aU df© 201617 Ho$ g_` H$a Xo`Vm H$s 

JUZm H$s{OE : 5 

(i) ì`dgm` Am` < 2,59,400   
(ii) df© _| gmoZo Ho$ {dH«$` na XrK©H$mbrZ ny±OrJV bm^ < 30,000   
(iii) Kw‹S>-Xm¡‹S> VWm H$mS>© Jo_ OrV go gH$b àm{ßV < 4,000 

Compute tax liability of Mr. X for the previous year 201516 during the 

assessment year 201617. 

(i) Business income < 2,59,400 

(ii) Long-term capital gain < 30,000 on sale of gold during the year 

(iii) Winning from horse races and card games < 4,000 gross. 

25. {dÎmr` df© 201516 Ho$ {bE lr e_m© Zo AnZr Am` Ho$ {ZåZ{b{IV {ddaU àñVwV {H$E :  

(i) doVZ < 20,000 à{V _mh  

(ii) ñd`§ Ho$ _H$mZ go {H$am`m  < 36,000 

(iii) ì`dgm` H$m bm^  < 1,50,000 

(iv) ~mOr OrVZo go gH$b àm{ßV  < 1,70,000 

 df© _| CgZo ñd §̀ Ed§ n[adma Ho$ gXñ`m| Ho$ ñdmñÏ` Ho$ ~r_o Ho$ {bE < 25,000 àr{_`_ 

H$m ^wJVmZ {H$`m & lr e_m© H$m N>moQ>m ^mB© {dH$bm§J h¡ VWm Cg na {Z^©a h¡ & lr e_m© Zo 
df© _| CgH$s {M{H$Ëgm na < 50,000 IM© {H$E & CgZo OrdZ ~r_m {ZJ_ Ho$ n|eZ \$ÊS> 

_| < 15,000 H$m ^wJVmZ ^r {H$`m & {ZYm©aU df© 2016 – 17 Ho$ {bE CgH$s H$a-`mo½` 

Am` H$s JUZm H$s{OE &  5 

Mr. Sharma submits the following particulars of his income for the 

financial year 2015 – 16 : 

(i) Salary < 20,000 per month 

(ii) Rent from own house < 36,000 

(iii) Profit of business  < 1,50,000 

(iv) Winning from bettings (Gross) < 1,70,000 

During the year he paid < 25,000 as premium on the insurance of his 

own health and family members. The younger brother of Mr. Sharma is 

disabled and dependent on him. Mr. Sharma spent < 50,000 on his 

treatment during the year. He also paid < 15,000 to Pension Fund of 

LIC. Compute his Taxable income for assessment year 2016 – 17. 
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26. {Xgå~a 2015 _mh _|, Ama Zo < 5,00,000 H$m AÝVa-amÁ`r` {dH«$` {H$`m & {dH«$` _| 

{~H«$s H$a gpå_{bV h¡ VWm `o \$m°_© gr Ho$ {déÕ H$s JB© h¡ & Eogr dñVwAm| Ho$ {bE amÁ` 
{~H«$s H$a Xa 4% h¡ &   

 H$a-`mo½` {~H«$s VWm Xo` Ho$ÝÐr` {~H«$s H$a H$s JUZm H$s{OE &  

 `h _mZVo hþE {H$ dñVwE± An§OrH¥$V {dHo«$Vm H$mo ~oMr JBª, V~ {dH«$` VWm Ho$ÝÐr` {~H«$s H$a 
H$s am{e Š`m hmoJr ?  5 

During the month of December, 2015, R made Inter-State sales of  

< 5,00,000. The sales are inclusive of sales tax and were made against 

Form C. State sales tax rate for such goods is 4%. 

Calculate Taxable Turnover and Central Sales Tax payable. 

Assuming the goods were sold to unregistered dealer, then what would be 

the amount of Turnover and Central Sales Tax ?  
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